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AP, GP, HP
CLASS-1 5.The sum of n terms of two arithmetic

1. If the fourth term of an arithmetic progression progressions are in the ratio (3n +8) : (7n +

is 11 less than the eighth term, what is the
difference between the 24t and 12t terms of
that progression?

Iy Pl gATER Ao F1 Olur g 3med
9g ¥ 11 &F g O 39 Aot & 249 3R
129 9eY & I FAT AT §?
a) 11 b) 22
c) 33 d) 44

2. The 12t term of an arithmetic progression is

twice to the fourth term of the same
progression. What is the ratio of 15™ term to
10t term of that A.P?

TH FATEX A &1 12a7 gg 3dT Aoff &
a9 9g &1 AN ¥l 3W AP F 159 UG

FT 104 9 { U F4T 2
a)3:2 b)4:3
c)14:19 d) 19: 14

3. In an A.P., the first term is 2 and the sum of the

first five terms is one — fourth of the next five
terms. Find the 20" term.

frlY AR Aot & guw ug 2 ¥ aur
YYH 9T Ya© FT IR, 39T 91T 9ai &
IRTRT FT UF dtars §1 geisT R 20af

gg 112 2l
a) 112 b) 56
) —112 d) —56

4.1n an A.P. if m"term is n and the n* term is

m. where m # n, find the pth term.
Ifg frdt FATGR A FT mat 9§ n du°T
nal 96 m &, S8l m=n, & d pdal 9

EIGECIE L
aam+n+p bpm+n-—-p
cm-n—p dmn+p

15). Find the ratio of their 12t terms.
A AR ARA & n 9 F AUEA FT
FAIE (3n+8):(7n+ 1581 A=AT Afory
¥ 123 v&l FT IHqUId AT AT

a)7:16 b)16:7
c)2:3 d)3:7

6. The sums of n terms of two arithmetic

progressions are in the ratio 5n+4:9n + 6.
Find the ratio of their 18" terms.

A AR ARAT & n a7 F ANTRA FI
HIANT 5n+4:9n+6. 8, @ 3% 189
Y&l # U AT e

179 321
) 7o d 3z

7. The sum of 4" and 12" terms of an arithmetic

progression is equal to the sum of 12th, 16t
and 18" terms. Which term of that
progression should necessarily be zero?

TH FAET Aoft & =i 3 129 9gf &
T 129, 169 3R 189 wef & JoT F
T Bl 39 FAET Aoft &1 i @1 9T

HaTH T § Y gl AIge?
a) 25t b) 30t
c) 31 d) 46%

8. If the sum of first 12 terms of an arithmetic

progression is equal to the sum of the first 28
terms of the same progression. What is the
sum of first 40 terms of that A.P?

I T @A Aot & gger 12 9&t HT
1 W AR A F ggd 28 UGl &
AT F TSR 21 37 A.PF GIHA 40 9ai
HT AT FAT §?

a)o b) 12
c) 28 d) 40
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9. How many terms of the A.P. — 6, —7,—5,
are needed to give the sum —25?
wAI Ao, -6, =, —5,.. F Rraer wal
HT AR —25 &7
a)5 b) 20
c)50r20 d) 25

10.

11.

12.

13.

If the sum of first n terms of an arithmetic

. . 3n%+5 .
progression is & n, what is the tenth term

of that arithmetic progression?

gfe A gAY Aot & 9ge n 9SG T
w3"2;5"%,a1wmﬂvﬁmm

qg T &2
a) 30 b) 31
c) 32 d) 33

Find the sum to n terms of the A.P., whose k"
termis 5k + 1.

39 WATGR A & n 9ef H IR AT
ffaT FFeT kar 9 5k + 1 &

a)5n+7 b) > (5n + 1)

c)5 (5n+3) d) > (5n+7)

If 3, a, b, c, 17 are the consecutive terms of
an arithmetic progression, find a + b + c?

Ife 3, a b, ¢ 17 GATGET AVl & FNMER
gg & al a+ b + c AT AT

a) 20 b) 24
c) 30 d) 36

If the sum of first eleven terms of an
arithmetic progression is 231, what is the
sixth term of that progression?

I fFdY gAET Aot & Uga TIRE 9ar
HT AT 231 §, @ 39 WIfd &1 ST g

T 2
a) 11 b) 21
c) 22 d) 66

14,

15.

16.

17.

18.

If the tenth term of an arithmetic progression
is 12, what is the sum of first nineteen terms
of that A.P?

gfe fFdY WHER AU &1 @4l 9€ 12 §,
al 39 A.P. & Uge 3ol Yal HT JT F4T

14
a)o b) 31
c) 228 d) 361

If the ninth term of an arithmetic progression
is 13 and the sum of first thirteen terms is
130, what is the fourteenth term of that
progression?

I FdY gATET Aoft &1 Alaf g 13 ®
3R ggar RE 9ei &1 AT 130 & @ 39
SofY 71 Tlegar g F4T &2

a)13 b) 14
c)19.5 d) 20.5

If the ratio of tenth and fifth terms of an
arithmetic progression is 3 : 2, which term of
that A.P is twice to the tenth term?

Ifg v AR Aol & gud IR gEd gek
FT I 3:28, A IH FHAT AN FT

FlT AT UG GHG UG & QN 82
a) 24t b) 20t
c) 25th d) 30th

If the tenth and the sixteenth terms of an
arithmetic progression are 7 and 9
respectively, how many among the first
hundred terms of that A.P are integers?

gie Fd AR Ao F1 cHar 3R
Aogdl ag A 73R 9 § a 39 AR
Aol & ager @t w@l A F R QUi §2
a) 32 b) 33
c) 34 d) 50

In an arithmetic progression, the sum of first
six terms is five times the sixth term, and it is
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found that the sum of first ten terms is K%
less than the sum of next ten terms. The value
of K is nearest to:

TH AR AN H, g SF UG HT AT
oS 9g 1 T I ¢, AR Ig umr I @
fF ggel & TSl FT INT TS H UGl F
AT § K% FH g1 KFT AT s0F Sdhedd

g 22.
a) 65 b) 41
c) 80 d) 26

If the average of first nine terms of an
arithmetic progression is 11 and the average
of next nine terms
nineteenth term of that progression?

Ify FdY gAY Aot & ggdr At get &
sitaa 11 & 3tk 3@rer At get &1 ittea 29
O 39 AT AU T ATl U F4AT

21.

23.

CLASS - 2
In a G.P., the 3rd term is 24 and the 6th term
is 192. Find the 10th term.

TF IO’ Aot F Ao ug 24 FAT ear

g 192 &, ar 1047 g AT hifaw]

a) 512 b) 1536
c) 3072 d) 6144

The 5%, 8t and 11" terms of a G.P. are p, q
and s, respectively. Find gZ.

el qoer Aol &1 54, 8at @uT 11af ug
FAA: p, q dUT s ar f@ET

& q* =ps
is 29, what is the a)p+s b)p/s
c) ps d)s/p

The 4t term of a G.P. is square of its second
term, and the first term is —3. Determine its.
7% term.

e et uieR Aoft @1 S 9w sES g
a) 35 b) 39 qg & 3% ¥ 9uT 5UH ug -3 ¥ ar 7af
c)18 d) 36 S =

How many arithmetic progressions starting a) —2187 b) —343

with 101 and ending with 1001 can be ) —729 d) 343

formed using only integers such that each
progression has at least four terms?

101 & & g arelt 3R 1001 R FaATT
HT 3YANT FI&F I ST Fhdl &, A &
Y AF garfa F 7 § FH 9N UG

24.

The sum of first three terms of a G.P. is 16 and
the sum of the next three terms is 128.
Determine the first term.

fFdlt o Aoft & guw Al wat @
IRTHA 16 § TUT 39Tk fieT 9&r @1 Iher

) 900 b) 27 128 %l
a

a)2 b) 16
c) 25 d) 10 )16 ) 7
Answer Key
1.C 2.D 3. C 4.B 5. A 25. Find four numbers forming a geometric
6. * 7. B 3. A 9.C 10. B progression in which the third term is greater
1. D 12. C 13. B 14. C 15.D Fhan the fILSt te}:m4|:¥b9,1asnd the second term
16.C |17.C |18.B |19.B |20.C Is greater than the 47 by 1.




26.

27.

28.

29.

By Bhutesh Sir:
CAT Topper (98.74%ile)
3 times CGL selected

SUBSCRIBE “e1 coaching center” on YouTube & get:

Best content for SSC CGL, CHSL, CPO, MTS, CDS, Railway
Latest Exams questions solutions

Best series for All competitive Exams
SSC CGL Tier 2 (2011 to 2021) All ques Chapter wise with pdf

W AR 9g AT AFAT S o Aoft F
&), S e 9g wuw 97 @ 9 IRw
g U1 g ug =9 9g & 18 A @l

The second term of a geometric progression is
12 more than the first term and the third term
is 28 more than the second. What is the
difference between the third and fourth terms
of that progression?

TF AU A FT GET 9g TEd UG &
12 s ¢ Ak fwwr 9 gy & 28
s 31 3@ A & A AR AT 9T F
a7 IR

a) 44
c) 60

b) 65.33
d) 80

The sum of first three terms of a G.P. is % and
their product is 1. Find the common ratio.

mea:m?rqa’fmznm%

TR § dUT IASH IUEET 1 Y
IeIT AT Ffe]
5 2
a)g i b) <
c)Eorg d)1

1 1 1
If a, b, c are in G.P. and ax = by = cz, then
X,y,Zarein

. a8 1
I a, b, c TONR AR F § TUT ax =
1 -
by—Cz%T-l‘rxy, __ At F R
a) AP b) GP
c) HP d) None

The sum of some terms of G.P. is 315 whose
first term and the common ratio are 5 and 2,
respectively. Find the last term.

U Aoft & Fo 9& F AT 315 B,
3UHT GYHA UG qUT W IHqUId FAA: 5
aar 2§ A g Fa fifew)

30.

31.

32.

33.

34.

SCAN THE QR CODE

oF -,53_@

. &?
a) 80 b) 160
c) 180 d) 320

If the arithmetic and geometric mean of two
numbers are 12.5 and 12 respectively, find
the difference of the two numbers?

I & w1 wHeR AR iR
Ay A 1253 12 & @ ot
HEIHT T AR AG hifae?

a)0.5 b) 5

c)6 d)7

If AAM. and G.M. of roots of a quadratic
equation are 8 and 5, respectively, then
obtain the quadratic equation.

afe B cfura wHERoT & A& F
FAGR ATET UG JUIGR AL FAA: 8
auar 5 §, at gfdara wHlieRor AT fifaw)

If p, q, 1, s are in geometric progression, then
P>+ q*+1>) (> +r* +5%) =

afe p,q,r,s?IUﬁﬂT goff & § ar
P*+q*+1®) (g> +1r* +5%) =

a) pqrs

b)p+q+r+s

c) (pq + qr + rs)?
d) p? + q* + r? + s?

If p, q, T, s are in geometric progression, then
@+ %), (¢® +13), (r* + 5%) arein:

IR pogrsTONE AN F OE
@+ a3, (@ +713), (3 +s3) T & &

a) A.P b) G.P

c)H.P d) None

Find the sum of the first 40 terms of 2 + 4 +
3+9+4+4+16+.......

2+4+3+9+4+16+- & gk 40 UGl

FT T AT AT

a) 2048 b) 3310
c) 3540 d) 3542
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35. There are two numbers. If the ratio of their
arithmetic mean to harmonic mean is 25:9,
what is the ratio of their arithmetic mean to

geometric mean?

a §EAIU §. I 3T AT AT FT
FUCHS AT ¥ Ie[ard 25:98, a@F 3dF
AL ATET T IO AT § 39T

FT 2

a)3:5 b)5:3

c)9:25 d)25:9

Answer Key

21.C 22.C 23. A 24.C 25. *
26.B 27.C 28. A 29.B 30.D
31. * 32.C 33.B 34.C 35.B




